# WHITE ECOLOGY

Hygiene Cost-efficiency

**v-eltex**°

Save Plus originates from a sustainable circular production process, as it recovers fibres of pure cellulose, coming from the paper mill and the converting lines. This special feature allows Save Plus product range to have a degree of whiteness of 75%, achieved without added whitening agents or optical bleachers\*. Guaranteed recycled, in full respect of man and nature.



Great cost-effectiveness ratio



Non-invasive smell, even when wet



Toilet paper dissolves in water within 15 seconds once flushed\*\*



In line with the EU GPP which aims to encourage green procurement by public administrations, thus reducing environmental impact\*\*\*

#### CERTIFIED AFFORDABILITY





\*\* No bleaching agents are intentionally added during our production process.

\*\* Flushability tests carried out as per Regulation AFNOR: NF Q 34-020:1998, in an accredited laboratory.

\*\*\* In line with the European Green Public Procurement (GPP), which aims to define requirements to encourage green procurement by public administrations, thus reducing their environmental impact. Compliant with the Minimum Environmental Criteria, mandatory in Italy for cleaning services for public and healthcare environments.

## WHITE RECYCLED PRODUCTION PROCESS





## TOILET PAPER

		PRODUCTS		P	Q	Ĩ	Î	Ĵ		Ū	0	瞷 x 🖗	ø
9 900 900 900 900 900 900 900 900 900 9	FLUTECH	Code 1010S 10 rolls	Cotton Flowers Embossing	2	10 cm	42 mm	9,8 cm	11 cm	17,6 m	160	10	12	21
	FLUTECH	Code 1012SN 4 rolls	Cotton Flowers Embossing	2	12 cm	42 mm	9,8 cm	11 cm	55 m	500	4	10	48

# JUMBO TOILET PAPER

	PRODUCTS		Q	P	<b>D</b>		Î	Ĵ	Ĵ	Ū	🕮 x 🖗	Ø
	FLUTECH	<b>Code 2230S</b> Maxi Jumbo	Satin Embossing	2	26,5 cm	63 mm	9 cm	15 cm	350 m	2330	6	63
_	FLUTECH	<b>Code 2222S</b> Maxi Jumbo	Satin Embossing	2	26,5 cm	76 mm	9 cm	15 cm	300 m	2000	6	63
		<b>Code 2020S</b> Mini Jumbo	Satin Embossing	2	19,5 cm	76 mm	9 cm	15 cm	150 m	1000	12	52

## INTERFOLDED TOILET PAPER

S	PRODUCTS	Q		Î,	đ		<b>]</b> × Ø	
	Code 7132S Interfolded Toilet Paper	Athena Embossing	2	18x10,5 cm	250	36	9000	40
	<b>Code 7172SN</b> Interfolded Toilet Paper	Leonida Embossing	2	21x10 cm	225	40	9000	40

# INDUSTRIAL ROLLS

PRODUCTS	Q	P	Ő		Î	Ĵ		đ	📾 x 🖗	ø
<b>Code 5454S</b> Industrial roll	Satin Embossing	2	25 cm	72 mm	24 cm	21 cm	168 m	800	2	70
Code 5453S Industrial roll	Satin Embossing	2	26 cm	72 mm	24 cm	28 cm	280 m	1000	2	70

#### FOLDED HAND TOWELS

	PRODUCTS	Q	P	↑□,	Ū		Ôש	
972   1987	<b>Code 7211S</b> V Folded Hand Towels	Athena Embossing	2	21,5x18 cm	175	18	3150	40
	<b>Code 7272S</b> V Folded Hand Towels	Leonida Embossing	2	21,5x21 cm	200	15	3000	40
	<b>Code 7274S</b> V Folded Hand Towels	Leonida Embossing	2	25x21 cm	200	15	3000	36
and the second sec	<b>Code 7277S</b> Z Folded Hand Towels	Athena Embossing	2	20,5x24 cm	120	25	3000	44

## CENTRE-FEED HAND TOWELS

↓ ₽	PRODUCTS		P	Q	ä	101		Ĵ	đ	瞷 x 🖗	ø
	Code 3232S Centre-feed Hand Towels	Satin Embossing	2	19 cm	50 mm	19 cm	24 cm	108 m	450	6	48

## HAND TOWEL ROLLS

9	PRODUCTS		P			ĵ			🕬 x 🖗	۵	ø
	Code 4040S Auto-cut hand towel rolls	Satin Embossing	2	19 cm	39 mr	m 20 c	m 130	m	6		44
MEDICAL ROLLS											
	PRODUCTS	Q	P	Ő		Î			Ĵ	🕬 x 🖗	
	Code 6464S Medical rolls	Micro embossed	2	13,1 cm	39 mm	50 cm	34 cm	48 m	140	9	24
	Code 6455S Medical rolls	Micro embossed	2	14,7 cm	39 mm	55 cm	38 cm	80 m	211	6	32
ER I	Code 6482S Medical rolls	Micro embossed	2	14,7 cm	39 mm	59,5 cm	34 cm	68 m	200	6	32

INDUSTRIE CELTEX S.p.A. Headquarters Via Trav. del Marginone, 23 55015 - Montecarlo Lucca - Italy

Tel. +39 0583 27 41 info@celtex.it www.industrieceltex.com Management Offices Via dei Sandroni, 22 55011 - Altopascio Lucca - Italv